Arts & Science 1D06 Quiz #1 24 September 2015

Full Name: Selutions Student # :

TA: May Lazonr

Please provide detailed solutions to the problems below. Correct responses without jus-
tification may not receive full credit. The use of a calculator is permitted.

[4 marks] (1) Let y = 22 + 2% + 22. Compute gg_;
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[6 marks] (2) Let g be a differentiable function on all of R such that g ("/2) = ¢’ (/2) = 1. If

_ zg(x) v
flz) = sinz ’ compute (7). — Use  quetient & Produch rules.
€y (xa@)Y sinx = (1900) (sina)'
I (E.‘\r\-xv'
_ lg(x)+ ‘19‘{1))?-{“3& - 1@(1%.051
sin*x
[ (= T oo XA R © (s osT=0)
So &"{W!z) = &‘3[‘1)* 9 () )sinl 1.) —%%L‘_:)’—Cs?‘_t?{‘)—g
« 1&& \
N 2]
(L=E1)1
= e
- A L™
- 1 4 a




